Monday, September 30, 2024 A

EE 381 Electric and Magnetic Fields Quiz #4 (Fall 2024)
Name /é < y A

Instructions: Closed book & notes. Place answers in indicated spaces and show all work for credit.

Useful equations: 4+B =’A”B|c056’/,3, AxB =|A”Blsm6AB A, Toosion =XA, +ya, +za,

position

Given: Cartesian points A(16,7,1), B(7.8.-9), C(-3,-9,-4) & D(4,-11,-3) [units of meters]
Vectors M =22d,-9a, +13a., L =184, +164, +12a,,and N=-104, -74, 144

Find:

a) The position vectors (7, and 7,) for points A and B.
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b) The distance vector d from point B to point A.
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d) The smallest angle ¢ (in degrees) that N makes with the positive x-axis [ 4 ,(3
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Monday, September 30, 2024 B

EE 381 Electric and Magnetic Fields Quiz #4 (Fall 2024)
Name /Le (/ g

Instructions: Closed book & notes. Place answers in indicated spaces and show all work for credit.

Useful equations: A'B=|A“B|COSI9AB, AszlA“B|sin6’AB A,y Toosiion = XA, +ya,+za,

position

Given: Cartesian points A(16,7,1), B(7.8.-9), C(-3,-9,-4) & D(4.-11,-3) [units of meters]

Vectors M =224, -9a,+13a,, L =184, +164,+124,,and N =-104,-74, - 144,

—

Find:

a) The position vectors (7. and 7, ) for points C and D.
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b) The distance vector d from pothto point D.
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d) The smallest angle & (in degrees) that L makes with the positive z-axis [ Zl\ Z’)
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